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Fourteen, Twelve, eight, six

Rhyss, Tina, Mark and Mhairi are playing a game using the 16 cards below:





The cards are turned over and mixed up so that no one knows which card is which. Each player in turn picks up a card until they have 4 cards and all 16 cards have been picked up.

The players then add up all the numbers on their own card.

Tina gets a total of 14

“You must have picked up three 4’s and a 2”, Mhairi said to Tina.

“Not necessarily”, said Mark, “it could have been two 4’s and two 3’s”.

Your Task
Investigate and find all the different ways that the 16 cards can be picked up so that Tina has a total of 14, Mark has a total of 12, Rhyss has 8 and Mhairi has 6. You should write a report explaining the process you used and your solution to the problem – good luck!
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